
�����  4 
 

��ก	
��
�
	��������� 
 

ก����ก����	�
������
	��   ���	ก����ก����	�
����������	��	�
�ก�����ก������	������     
� ��!"�����	#�	 (PBL) �����
  &�
'�(ก���	 )��'ก������	���
*+����),�-  ).����/	�ก����	       
 ��	��'01��ก���2+�� 6   4��
*���5���.��	*	ก��,�1ก�'/
	ก��
*���6('���	� (Research and 
Development) ���6/�
ก����ก����ก���	  3 ,�	 ��
	�� 

,�	+��1   ก��)���
6('���9:&��;�
�	�
�ก�����ก������	������� ��!"�����	#�	 
(PBL)  �����
&�
'�(ก���	 )��'ก������	���
*+����),�- ).����/	�ก����	 ��	��'01��ก���2+�� 6   
 ,�	+�� 2   ก��+�(�
� ��	�
�ก������	������� ��!"�����	#�	(PBL)  �����
&�
'�(ก���	 
)��'ก������	���
*+����),�- ).����/	�ก����	 ��	��'01��ก���2+�� 6   
 ,�	+�� 3   ก����'�1*	�
�1�*���=	;�
	�ก����	+��1�,���	�
�ก�����ก������	������� �
�!"�����	#�	  (PBL)  �����
&�
'�(ก���	   )��'ก������	���
*+����),�- ).����/	�ก����	          
 ��	��'01��ก���2+�� 6   
 

������1   ก	
�
�	�����	��� 	!�����"�#ก	
$%&ก	


�#�
��'&#()�*+,�	
*-�.	� 
(PBL)  

1��� 	��'�ก
��� �	
�ก	


�#�
�����#	2	��
�  �3	�
%��%ก

�#�       
)%4�*
�5�26ก7	*8��� 6        

 
4(ก��)���
6('���9:&��;�
�	�
�ก�����ก������	������� ��!"�����	#�	 (PBL)   

�����
   &�
'�(ก���	   )��'ก������	���
*+����),�-   ).����/	�ก����	 ��	��'01��ก���2+�� 6             
A��
4����ก����	�
��5��)���
;��	  6(�
	.�5����4��� ���
 �"�.�	
	  5  +��	,�
�)�/ )�9�4(5��         
��
,���
+�� 7 
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�	
	� 7  ��&���ก	
!�$	
�	��� 	!'&#
�������"�#ก	
$%&ก	


�#�
��'&#()�*+,�	

*-�.	� (PBL)  

1���   	��'�ก
��� �	
�ก	


�#�
�����#	2	��
�   �3	�
%�
�%ก

�#�  )%4�*
�5�26ก7	*8��� 6  '&#���
)��#�)	,$3	��� 5 �"	� 

 

n  = 5 
 


	#ก	
*
�
��� 
X  ..DS  

 


�&%���� 	! 

1.  �	�����)��' 4.69 0.47 1�ก+��)9� 
2.  ก�����ก*�ก��1ก������	ก��)�	   4.55 0.50 1�ก+��)9� 
3.  ก��� �)���6('6�(�
����	����	ก������	ก��)�	 4.43 0.50 1�ก 
4.  ���	ก��
��6('��'�1*	4( 4.45 0.50 1�ก 


�� 4.53 0.23 �	ก�����& 

 

��ก,���
 7  �/
���9:&������
1;�
�	�
�ก�����ก������	������� ��!"�����	#�	 (PBL)  
�����
  &�
'�(ก���	  )��'ก������	���
*+����),�-    ).����/	�ก����	 ��	��'01��ก���2+�� 6   1�
�9:&�� �����	�'��/1�ก+��)9�  ( X  = 4. 53  ..DS  =0.23 )  ������	�	�����)��'1�����G(���)�
)9� 

( X  = 4.69 ) 
 

�	
	� 8  ��&���ก	
!�$	
�	��� 	!�����"�#ก	
$%&ก	


�#�
��'&#()�*+,�	
*-�.	� 
(PBL)  

1��� 	��'�ก
��� �	
�ก	


�#�
�����#	2	��
�   �3	�
%��%ก

�#�       
)%4�*
�5�26ก7	*8��� 6  '&#���
)��#�)	,$3	��� 5 �"	�  &�	�
�14��	�	
� 

 

n  = 5 
 


	#ก	
*
�
��� 
X  ..DS  

 


�&%���� 	! 

1.  
�14��	�	
�    
1.1    1��
�1)���(��
ก�/,�
 ��
��;�
�(�ก)�,�6ก	ก(�


ก����ก��;��	���	#�	 �.�. 2551 
4.60 0.55 1�ก+��)9� 

1.2    1��
�1)���(��
ก�/�9���')
�-ก������	��� 4.60 0.55 1�ก+��)9� 
1.3    �	�����+������	1��
�1��ก - 
��� ��1�')1ก�/�'��/

;�
4������	 
4.60 0.55 1�ก+��)9� 
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�	
	� 8  (�"�) 
 

n  = 5 
 


	#ก	
*
�
��� 
X  ..DS  

 


�&%���� 	! 

1.4    1��
�1 ����	  �;����
��� 1�ก��(.���/;��	,�	 
0�ก,��
 

4.60 0.55 1�ก+��)9� 

1.5    �	�����)��'�ก���
;��
ก�/ �
*,��'�.�
�	1���'�� 	-  
)�1��0	.�5��'�9ก,-� ��	 �
*,��'�.�
�	5�� 

5.00 0.00 1�ก+��)9� 

1.6    �	�����1��
�1+�	)1��  +�	,����,9ก��:- 5.00 0.00 1�ก+��)9� 
1.7    �	�����1��
�1��1�')1ก�/�
(� 4.40 0.55 1�ก 


�� 4.69 0.47 �	ก�����& 
 

��ก,���
 8 �/
���	�
�ก�����ก������	������� ��!"�����	#�	 (PBL)  �����
 &�
'�(ก���	 
)��'ก������	���
*+����),�-   ).����/	�ก����	 ��	��'01��ก���2+�� 6    ���	�	�����)��'1��9:&��
�����	�'��/1�ก+��)9�  ( X  = 4.69    ..DS  =  0.47 )  �1����*���:����	���;���/
��;�� 1.1   1.2   
1.3   1.4   1.5  6('  1.6  1��9:&�������	�'��/1�ก+��)9� 
 

�	
	� 9  ��&���ก	
!�$	
�	��� 	!�����"�#ก	
$%&ก	


�#�
��'&#()�*+,�	
*-�.	� 
(PBL)  

1��� 	��'�ก
��� �	
�ก	


�#�
�����#	2	��
�   �3	�
%��%ก

�#�       
)%4�*
�5�26ก7	*8��� 6 '&#���
)��#�)	,$3	��� 5 �"	� &�	�ก	
$%&ก�$ก

�ก	



�#�ก	
��� 

 

n  = 5 
 


	#ก	
*
�
��� 
X  ..DS  

 


�&%���� 	! 

2.  ก	
$%&ก�$ก

�ก	


�#�ก	
���      
2.1    ก.��	�ก*�ก��1ก������	ก��)�	5�� ����	  ��/,�1

ก�'/
	ก������	������� ��!"�����	#�	 

4.60 0.55 1�ก+��)9� 

2.2    64	ก�����ก������	���1��
�-��'ก�/��/0�
	 4.80 0.45 1�ก+��)9� 
2.3    ก�����ก*�ก��1ก������	ก��)�	�	�	4������	���	).���" 4.60 0.55 1�ก+��)9� 
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�	
	� 9  (�"�) 
 

n  = 5 
 


	#ก	
*
�
��� 
X  ..DS  

 


�&%���� 	! 

2.4    1�ก*�ก��1ก������	+���(�ก�(����1�')1ก�/
I��1 �,*;�

* �  6('4������	 

4.40 0.55 1�ก 

2.5    4������	5��JKก�*��L*/�,*��*
����
���	�'//;��	,�	 4.60 0.55 1�ก+��)9� 
2.6    ก*�ก��1ก������	ก��)�	��1�')1ก�/�
(� 4.20 0.45 1�ก 
2.7    4������	1�ก���'�1�
�1�*�  
�
64	���ก����	�
��

��ก6�(�
����	���+���(�ก�(�� 
4.80 0.45 1�ก+��)9� 

2.8    )�
�)�*1���4������	�*�6ก��!"��  6('ก(��,��)*	��5��
�,=1,�1��ก�&��;�
4������	 

4.60 0.55 1�ก+��)9� 

2.9    � ���1��
ก�/��')/ก��:-�	 �
*,��*
;�
4������	     
�ก*��9:I��1 ��*�I��1 6('���	*�1��	��1�')1 

4.40 0.55 1�ก 

2.10  4������	5��6(ก��(���	�
�1���6(')�9��
�1�����
�,	��
 4.60 0.55 1�ก+��)9� 
2.11  4������	1�)�
	��
1�	ก*�ก��1ก������	��� 4.40 0.55 1�ก 


��   4.55 0.50 �	ก�����& 
 

��ก,���
 9 �/
���	�
�ก�����ก������	������� ��!"�����	#�	 (PBL)  �����
 &�
'�(ก���	 
)��'ก������	���
*+����),�-   ).����/	�ก����	 ��	��'01��ก���2+�� 6    ���	ก�����ก*�ก��1ก��
����	ก��)�	1��9:&�������	�'��/1�ก+��)9�  X  =4.55    ..DS  =0.50  �1����*���:����	���;��
�/
��;�� 2.1  2.2  2.3  2.5  2.7  2.8   6('  2.10  1��9:&�������	�'��/1�ก+��)9� 
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�	
	� 10  ��&���ก	
!�$	
�	��� 	!�����"�#ก	
$%&ก	


�#�
��'&#()�*+,�	     

*-�.	� (PBL)  

1���   	��'�ก
��� �	
�ก	


�#�
�����#	2	��
�   �3	�
%�
�%ก

�#�)%4�*
�5�26ก7	*8��� 6 '&#���
)��#�)	,$3	��� 5 �"	� &�	�ก	
()��1�����
���"�ก	


�#�ก	
��� 

 

n  = 5 
 


	#ก	
*
�
��� 
X  ..DS  

 


�&%���� 	! 

3.  ก	
()��1��������"�

�#�
��(�ก	


�#�ก	
���    
3.1    1��
�1��1�')1ก�/�	�����  6('ก*�ก��1ก������	��� 4.00 0.00 1�ก 
3.2    1��
�1�(�ก�(��  	��)	�� 4.80 0.45 1�ก+��)9� 
3.3    ��5��
���  � �)'�
ก 4.60 0.55 1�ก+��)9� 
3.4    �;����
���  ��1�')1ก�/���	�ก��;�
4������	 4.20 0.45 1�ก 
3.5    6�(�
����	�����1�')1ก�/�	�����6('ก*�ก��1ก��

����	ก��)�	 
4.40 0.55 1�ก 

3.6    �	�����6('&���+��� ��	1��
�1��1�')1ก�/4������	 4.60 0.55 1�ก+��)9� 

�� 4.43 0.50 �	ก 

 

��ก,���
 10  �/
���	�
�ก�����ก������	������� ��!"�����	#�	 (PBL)  �����
  &�
'�(ก���	 
)��'ก������	���
*+����),�-   ).����/	�ก����	 ��	��'01��ก���2+�� 6    ���	ก��� �)���6('6�(�

����	����	ก������	ก��)�	1��9:&�������	�'��/1�ก  ( X  =4.43   6(' ..DS  = 0.50 ) �1���
�*���:����	���;���/
��;�� 3.2  3.3   6('  3.6  1��9:&�������	�'��/1�ก+��)9� 
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�	
	� 11  ��&���ก	
!�$	
�	��� 	!�����"�#ก	
$%&ก	


�#�
��'&#()�*+,�	     

*-�.	� (PBL)  

1��� 	��'�ก
��� �	
�ก	


�#�
�����#	2	��
�   �3	�
%�
�%ก

�#�  )%4�*
�5�26ก7	*8��� 6  '&#���
)��#�)	,$3	��� 5 �"	�  &�	�ก	
�%&
���*
�
����� 

 

n  = 5 
 


	#ก	
*
�
��� 
X  ..DS  

 


�&%���� 	! 

4.  &�	�ก	
�%&���*
�
�����    
4.1    ก.��	�ก��
��6('��'�1*	4(5����1�')1ก�/�'��/   

�
�1)�1��0;�
4������	 

4.60 0.55 1�ก+��)9� 

4.2    
��6('��'�1*	4(5�����/�(91,�
 ��
��  6('
�9���')
�-ก������	��� 

4.40 0.55 1�ก 

4.3    
*I�ก��
���(�ก�(��  )���(��
���	�ก��4������	 4.40 0.55 1�ก 
4.4    ������
1��
��6('�ก:O-ก����'�1*	1��
�1

)���(��
ก�/
*I�ก��
�� 
4.40 0.55 1�ก 

4.5    
��6('��'�1*	,�1)&����*
 4.40 0.55 1�ก 
4.6    ������
1��
��6('�ก:O-ก����'�1*	1��
�1

)���(��
ก�/
*I�ก��
�� 
4.60 0.55 1�ก+��)9� 

4.7    	�ก����	1�)�
	��
1�	ก����'�1*	4( 4.40 0.55 1�ก 
4.8    1��
�1�+���
,�
  � ���0��5�� 4.40 0.55 1�ก 


�� 4.45 0.50 �	ก 
 

��ก,���
 11  �/
���	�
�ก�����ก������	������� ��!"�����	#�	 (PBL)  �����
 &�
'  
�(ก���	 )��'ก������	���
*+����),�-   ).����/	�ก����	 ��	��'01��ก���2+�� 6  ���	ก��
��6('
��'�1*	4(1��9:&�������	�'��/1�ก  ( X  =4.45   6(' ..DS  = 0.50 )  �1����*���:����	���;��
�/
��;�� 4.1  6('  4.6  1��9:&�������	�'��/1�ก+��)9� 
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4(ก��+�(�
� � (Try Out)  �	�
�ก�����ก������	������� ��!"�����	#�	 (PBL)  �����

&�
'�(ก���	 )��'ก������	���
*+����),�-   ).����/	�ก����	 ��	��'01��ก���2+�� 6 ก�/	�ก����	+��
51�� �ก(9�1,�
����
   

�(�
��ก4����ก����	�
��5�����/��9
�	�
�ก�����ก������	������� ��!"�����	#�	 (PBL)  
�����
&�
'�(ก���	 )��'ก������	���
*+����),�-   ).����/	�ก����	 ��	��'01��ก���2+�� 6 ,�1
�.�6	'	.�;�
4��� ���
 �"6(�
 	.�5�+�(�
� � (Try Out) ก�/	�ก����	+��51�� �ก(9�1,�
����
 A��
���	
	�ก����	 ��	��'01��ก���2+�� 6 �	&������	+�� 2 �2ก����ก��2552  ��
����	�+�/�(�1��
)
����(ก 
�.�	
	 30  �	 �����+�)�/
���	�
�ก�����ก������	������� ��!"�����	#�	 (PBL)  �����
&�
'  
�(ก���	 )��'ก������	���
*+����),�-   ).����/	�ก����	 ��	��'01��ก���2+�� 6 )�1��0	.�5�� �5��
��*
 ��กก��+�(�
)�	6(�
/�	+�ก4(ก��+�(�
�ก���
ก�/�!"�� 6	
+�
6ก�5; ��
,���
 11 
 

�	
	� 12  ��&���ก	
$	กก	
�&���()� (Try Out) ��"�#ก	
$%&ก	


�#�
��'&#()�*+,�	

*-�.	� (PBL)   

1���   	��'�ก
��� �	
�ก	


�#�
�����#	2	��
�   �3	�
%�
�%ก

�#�)%4�*
�5�26ก7	*8��� 6   ก%��%ก

�#�)%4��%ก

�#�)%4�*
�5�26ก7	*8��� 6 
'
�

�#�
�2�	�
�1����

�'�ก $3	���  30  �����=�"()"ก��"��%��#"	� 

 

*
�
&>� *+,�	 ก	
*
%�*
���ก�=� 

1. ก�����              
ก*�ก��1     
ก������	��� 

1.   �	ก���L*/�,*ก*�ก��1 �����
 �����ก
&�
'����	ก�'�ก 6(' A��
1�ก��
+.�ก*�ก��1�(��ก*�ก��1  +.�
����
(�����	+��� �  2  ��
�1
 	���
�ก*	5�  51�)�1��0+.�ก*�ก��1
5����/0�
	)1/��:- 

2. /+�
�1�����/�
�1��� ).����/
	�ก����	1��	�����  ����;���
�1
��
1�ก�ก*	5�  51���1�')1
ก�/�
(�+��ก.��	�  ;	��;�

,�
��ก��1�;	���(=ก   

1. �	/�
ก*�ก��1)�1��0���
	�ก����	�L*/�,*ก*�ก��1�	�
(�

��
����+.����	ก��/��	  �' �
�
��'�����
(��	ก��+.�ก*�ก��1  
6(')�1��0�.��	*	ก*�ก��15��
��/0�
	)1/��:- 

2. )�9����
�1).���"  �������
�
�1;�
/+�
�1�����/�
�1���
6(',��;���
�1+��51�).���"��ก  
��ก	��	����/����
/+�
�1����
�/�
�1�����1����1�)1/��:- ��*�1
;	��;�
,�
��ก��  
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�	
	� 12  (�"�) 
 

*
�
&>� *+,�	 ก	
*
%�*
���ก�=� 

  6('�)����&��+��)���)�1��	I-ก�/
;���
�1 �����ก�',9�	�
�1)	��
;�
	�ก����	 
 

2.  )��� 6('6�(�

����	��� 

1. )���ก������	��� �����
 ��9��(ก���	
A��
���	�ก����	���(*���ก
�*	�,��-�	=,� ��
(�	�	  
��1�*
�,��-/�
������
+.�
�	
 ��  ����1��!"���	ก��+.�
�	 

2. 6�(�
����	��������� �)�/��	;��1�(
,��
 P 51�����
��,��4������	 

1. ���,��
�,���1)���ก������	��� �����
 
��9��(ก���	  +�
�*	�,��-�	=, 
6('��1�*
�,��-�������1ก��	 

 

 

2. ���+.�)���ก������	�����*�1�,*1    
�������
��ก�/�.�	
		�ก����	 

 

3.  ก��
��6('
��'�1*	4( 

1. 	�ก����	/�
ก(9�16)�
�
�1
�*���=	�	ก��6ก��!"����
51�
,�
��'��=	�.�0�1 

 

 

1. ��� �
� ��6	' 6('�กก�:�      
,�
����
���	�ก����	��
1ก�	   
6)�
�
�1�*���=	0�

*I�ก��  
6ก��!"�� ��������	�ก����	5��6)�

�
�1�*���=	,�
��'��=	�.�0�1 
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������ 2    ก	
�&���()���"�#ก	
$%&ก	


�#�
��'&#()�*+,�	
*-�.	�(PBL)  

1��� 	��
'�ก
��� �	
�ก	


�#�
�����#	2	��
� �3	�
%��%ก

�#�)%4�*
�5�26ก7	*8��� 6   

 

�	
	� 13 ��&���ก	

*
�#�
��#����%�?�@�A�	�ก	


�#�  ����%ก

�#����

�#�'&# 
��"�#ก	
$%&ก	


�#�
��'&#()�*+,�	
*-�.	� (PBL)  

1��� 	��'�ก
��� �	
�
ก	


�#�
�����#	2	��
�   �3	�
%��%ก

�#�)%4�*
�5�26ก7	*8��� 6  
���"	���%�


�#�ก%�
ก�B�  (�����
ก�B�
��#�� 75  ���"	
�"	ก%� 18.75  ����� $	ก
�����
�>�  25  ����� ) 

 

ก	
�&��� �����
�>� 
ก�B� n  X  ..DS  df  t  p  
 

��%�

�#� 
 

25 

 

18.75 
 

20 

 

21.40 

 

2.11 
 

19 
 

5.61* 

 

.00 

 

* p  <  .05 

 

��ก,���
  13 �/
��4()�1Q+I*R+�
ก������	;�
	�ก����	+������ ��	�
�ก�����ก��
����	������� ��!"�����	#�	 (PBL)  �����
&�
'�(ก���	  +��4����ก����	�
��)���
;��	  1�����G(���;�

�'6		4()�1Q+I*R+�
ก������	�(�
����	 ( X  = 20.10)  )�
ก
���ก:O-  ����
1�	��).���"+�
)0*,*
+���'��/ .05 
 

�	
	� 14 ��&���ก	

*
�#�
��#�!?��ก

��	�ก	


�#�����%ก

�#����

�#�&��#��"�#
ก	
$%&ก	


�#�
��'&#()�*+,�	
*-�.	� (PBL) 

1���  	��'�ก
����	
�ก	


�#�
��
���#	2	��
�   �3	�
%��%ก

�#�)%4�*
�5�26ก7	*8��� 6  ก%�
ก�B�
��#�� 75   

 


	#ก	
*
�
��� �����
�>� 
ก�B� n  X  

��#�� ��ก	
*
�
��� 

ก��+.�
�	 20 15.00 20 16.90 83.50 4��	 
ก����
1�&*���� 20 15.00 20 16.90 82.00 4��	 
+�ก�'ก��+�(�
 10 7.50 20 8.30 82.50 4��	 
4(
�	 /  *�	
�	 20 15.00 20 17.30 84.50 4��	 
ก��	.��)	�4(
�	 20 15.00 20 17.10 84.50 4��	 


�� 100 75.00 20  83.40 �"	� 
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��ก,���
  14 �/
���Q,*ก��1+�
ก������	;�
	�ก����	+������ ��	�
�ก�����ก��
����	������� ��!"�����	#�	 (PBL)  �����
&�
'�(ก���	  +��4����ก����	�
��)���
;��	  1��Q,*ก��1ก��
����	���+9ก���	�G(�������('  83.40 )�
ก
���ก:O-����(' 75  �1����*���:��Q,*ก��1ก������	���6,�
('���	  ���  ก��+.�
�	 �*����	����(' 83.50  ก����
1�&*����  �*����	����(' 82.00   +�ก�'
ก��+�(�
  �*����	����(' 82.50  4(
�	 /  *�	
�	  �*����	����(' 84.50  ก��	.��)	�4(
�	  
�*����	����(' 84.50   
 

������ 3   ก	
*
�
�����	���&
�>�����%ก

�#�������"���"�#ก	
$%&ก	


�#�
��
'&#()�*+,�	
*-�.	�(PBL)  

1��� 	��'�ก
��� �	
�ก	


�#�
�����#	2	��
�   �3	�
%�
�%ก

�#�)%4�*
�5�26ก7	*8��� 6   

 
4(ก����'�1*	�
�1�*���=	;�
	�ก����	+������	��
��	�
�ก�����ก������	������� ��!"��

���	#�	 (PBL)  �����
&�
'�(ก���	 )��'ก������	���
*+����),�- ).����/	�ก����	 ��	��'01��ก�� 
�2+�� 6   A��
4����ก����	�
��5��)���
 �.�	
	 20 �	 )�9�5����
,���
+�� 15 
 

 

�	
	� 15 ��&���ก	
*
�
�����	���&
�>�����%ก

�#�������"���"�#ก	
$%&ก	


�#�
��
'&#()�*+,�	
*-�.	� (PBL) 

1��� 	��'�ก
��� �	
�ก	


�#�
�����#	2	��
�   
�3	�
%��%ก

�#�)%4�*
�5�26ก7	*8��� 6  $3	��� 20 ��  &�	�*+$$%#�3	
��	  

 

n  = 20 
 


	#ก	
*
�
��� 
X  ..DS  

 


�&%� 
��	���&
�>� 

1.  &�	�*+$$%#�3	
��	    
    
�14��	    
1.  �	�����;�
�	�
�ก������	���1��
�1��1�')1ก�/	�ก����	 4.55 0.51 1�ก+��)9� 
2.  �	�����+������	1��
�1	��)	�� 4.80 0.41 1�ก+��)9� 
3.  �	���������
(.���/�
�1� ���1��
ก�/��')/ก��:-	�ก����	 4.50 0.51 1�ก+��)9� 
4.  �	�����1��
�1)���(��
ก�/�9���')
�-ก������	��� 4.60 0.50 1�ก+��)9� 
5.  �	�����1��
�1��1�')1ก�/�
(�����	 4.40 0.50 1�ก 


�� 4.57 0.50 �	ก�����& 



 79 

�	
	� 15  (�"�)   
 

n  = 20 
 


	#ก	
*
�
��� 
X  ..DS  

 


�&%� 
��	���&
�>� 

    ����	�  (���	�
��  (��	�    
1.  ���	6(�
�;����
���   4.60 0.50 1�ก+��)9� 
2.  ��*1�:;���
�1  �	�������1�')1 4.45 0.51 1�ก 
3.  �	�����,�
,�1/+����	  6(')*�
+������	 4.60 0.50 1�ก+��)9� 
4.  �	�����ก�/�
(�1��
�1��1�')1 4.75 0.44 1�ก+��)9� 
5.  ,��
ก����ก)�����		�ก��ก/+�
�1�/�
�1������	P��ก 4.90 0.31 1�ก+��)9� 


�� 4.66 0.48 �	ก�����& 
     ���"�������  ���"�ก	


�#�
��    
1.  1��
�1�(�ก�(��   4.65 0.49 1�ก+��)9� 
2.  	��)	�� 4.60 0.50 1�ก+��)9� 
3.  1�;��1�(��/0�
	 4.45 0.51 1�ก 
4.  ��1�')1ก�/�	����� 4.85 0.37 1�ก+��)9� 
5.  ,�
,�1
�,09��')
�-ก������	��� 4.60 0.50 1�ก+��)9� 


�� 4.63 0.49 �	ก�����& 

��&�	�*+$$%#�3	
��	 4.62 0.49 �	ก�����& 

 

��ก,���
 15 �/
��	�ก����	 ��	��'01��ก���2+�� 6 +������	��
��	�
�ก�����ก������	������
� ��!"�����	#�	 (PBL)  �����
  &�
'�(ก���	  1��
�1�*���=	,�����	�!����	.��;��+9ก���ก��    
�����	�'��/1�ก+��)9� ( X  =4.62  6('  ..DS  =0.49)  �1����*���:�6,�('�
�-��'ก�/���	,��
 P  
�/
���	�����  �
�1�*���=	�'��/1�ก+��)9� ( X  =4.57)    /+�
�1 �/�
�1���  �/
�	 �
�1

�*���=	�'��/1�ก+��)9�  ( X  =4.66)  6('6�(�
;��1�(  6�(�
ก������	��� 1��
�1�*���=	1�ก+��)9�  

( X  =4.63)  
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�	
	� 16 ��&���ก	
*
�
�����	���&
�>�����%ก

�#�������"���"�#ก	
$%&ก	


�#�
��
'&#()�*+,�	
*-�.	� (PBL) 

1��� 	��'�ก
��� �	
�ก	


�#�
�����#	2	��
�   
�3	�
%��%ก

�#�)%4�*
�5�26ก7	*8��� 6 $3	��� 20 �� &�	�ก
����ก	
  

 

n  = 20 
 


	#ก	
*
�
��� 
X  ..DS  

 


�&%� 
��	���&
�>� 

2.  &�	�ก
����ก	
    
     ก
����ก	


�#�ก	
���    
1.  ก*�ก��1ก������	ก��)�	1��
�1�(�ก�(�� 4.40 0.50 1�ก 
2.  ก*�ก��1ก������	ก��)�	1��
�1	��)	��ก�',9�	����ก*�ก������	��� 4.60 0.50 1�ก+��)9� 
3.   ก�',9�	���	�ก����	�ก*��
�1���ก������ก��=	 4.45 0.51 1�ก 
4.   ก�',9�	���	�ก����	�ก*��
�1�*�6ก��!"�� 4.45 0.51 1�ก 
5.   � ���1��
�
�1�*�;�
4������	 4.80 0.41 1�ก+��)9� 
6.    ��6	'5�)��6	
+�
�	ก��6ก��!"�� 4.55 0.51 1�ก+��)9� 
7.   
*I�ก��6	'	.�;�
���ก�',9�	����*�,��)*	��5����
�,	��
    4.40 0.50 1�ก 
8.   ����.�6	'	.�6ก�	�ก����	�����ก�����/��9
 4.50 0.51 1�ก+��)9� 
9.   �
(�+�����ก*�ก��1ก������	ก��)�	��1�')1 4.70 0.47 1�ก+��)9� 


�� 4.54 0.50 �	ก�����& 
     ก	
���"��
"��(�ก	


�#�����%ก

�#�    
1.   1�)�
	��
1�	ก�����ก������	��� 4.65 0.49 1�ก+��)9� 
2.   � ���,94(�	ก��,��)*	��6ก��!"�� 4.60 0.50 1�ก+��)9� 
3.  	�ก����	)�1��06ก�5;�!"��5����
�,	��
 4.45 0.51 1�ก 
4.  ก.��	�6	
+�
�	ก��6)

���
�1���5�� 4.45 0.51 1�ก 
5.  	�ก����	5�������ก;��	,�	ก��6)

���
�1�����
�,	��
1�ก;��	 4.55 0.51 1�ก+��)9� 


�� 4.54 0.50 �	ก�����& 
     ก	


�#�
��&��#��
��    
1.   )	��;�/�;,6('��
;��
�	+��5����/1�/�1�� 4.50 0.51 1�ก+��)9� 
2.   �
/�
1;��1�(�
�1���5����/0�
	,�1�9���')
�-ก������	��� 4.40 0.50 1�ก 
3.   ���
�*
6�(�
�
�1���+��	��� ���0��5�� 4.45 0.51 1�ก 
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�	
	����  16 (�"�) 
 

n  = 20 
 


	#ก	
*
�
��� 
X  ..DS  

 


�&%� 
��	���&
�>� 

4.  � ��
(�����	�����
�,	��
��1�')1ก�/�9:&��;�

�	+��5��
	.��)	� 

4.60 0.50 1�ก+��)9� 

5.  	�ก����	5�������กก������	�����
�,	��
1�ก;��	 4.75 0.44 1�ก+��)9� 

�� 4.54 0.50 �	ก�����& 

     ก
����ก	
ก��"�    
1.   )�1��06)�
�
�1�*���=	;�
,	��
5�� 4.50 0.51 1�ก+��)9� 
2.  	�ก����	��1��/�
�1�*���=	;�
�����	6('�	���	 P 4.40 0.50 1�ก 
3.   )�1��06ก�5;�
�1;��6��
;�
ก(9�1��
���,94( 4.60 0.50 1�ก+��)9� 
4.   �)	��
�1�*� ����
*I�ก����1� P �	ก��6ก��!"�� 4.35 0.49 1�ก 
5.   ��/4*� �/,��
�	+��5����/1�/�1�� 4.85 0.37 1�ก+��)9� 


�� 4.54 0.50 �	ก�����& 

��&�	�ก
����ก	
 4.54 0.50 �	ก�����& 

 

��ก,���
 16 �/
��	�ก����	 ��	��'01��ก���2+�� 6 +������	��
��	�
�ก�����ก������	������
� ��!"�����	#�	 (PBL)  �����
  &�
'�(ก���	  1��
�1�*���=	,�����	ก�'/
	ก�� +9ก���ก��   

�����	�'��/1�ก+��)9�  ( X  =4. 54   6(' ..DS  =0.50)   
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�	
	� 17 ��&���ก	
*
�
�����	���&
�>�����%ก

�#�������"���"�#ก	
$%&ก	


�#�
��
'&#()�*+,�	
*-�.	� (PBL) 

1��� 	��'�ก
��� �	
�ก	


�#�
�����#	2	��
�   
�3	�
%��%ก

�#�)%4�*
�5�26ก7	*8��� 6  $3	��� 20 ��  &�	�������  

 

n  = 20 
 


	#ก	
*
�
��� 
X  ..DS  


�&%���	�
��&
�>� 

3.  &�	�������    
    ก	
*
�
�����  ���%�?�@�A�	�ก	


�#�    
1.  1�)�
	��
1�	ก��
��6('��'�1*	4(  4.60 0.50 1�ก+��)9� 
2.  )�1��0	.�ก����'�1*	4(5�� ��	ก�����/��9

�	 4.45 0.51 1�ก 
3.  ��/+��/;��1�(���	ก(�/6ก�	�ก����	 4.30 0.47 1�ก 
4.   ��/+��/�(�ก�	ก����'�1*	6(�
)�1��0	.�1�� ���'�� 	-,��

ก������	���5�� 
4.40 0.50 1�ก 

5.   1�)�
	��
1�	ก��ก.��	��(�ก�ก:O-�	ก����'�1*	4(
�	 4.55 0.51 1�ก+��)9� 

�� 4.46 0.50 �	ก 

     ก	
�3	=*()�*
�'#)��    
1.  	�ก����	1��
�1����
�1�;�����ก���
ก�/�����
&�
'�(ก���	��*�1;��	 4.70 0.47 1�ก+��)9� 
2.  	�ก����	)�1��0	.��
�1���5�� ��	 �
*,��'�.�
�	5�� 4.55 0.51 1�ก+��)9� 
3.   	�ก����	)�1��0	.��
�1���5�� ��	ก��6ก��!"���(ก���	5�� 4.60 0.50 1�ก+��)9� 
4.   	�ก����	)�1��0	.��
�1���+��5��6	'	.�����
�1���ก�/4�����	 4.55 0.51 1�ก+��)9� 
5.  	�ก����	1��
�1��
�����	ก������	��
��	�
�ก�����ก��

����	������� ��!"�����	#�	 (PBL) �����
 &�
'�(ก���	   
4.60 0.50 1�ก+��)9� 


�� 4.60 0.49 �	ก�����& 

���%4���& 4.60 0.50 �	ก�����& 
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��ก,���
 17 �/
��	�ก����	 ��	��'01��ก���2+�� 6 +������	��
��	�
�ก�����ก������	������
� ��!"�����	#�	 (PBL)  �����
  &�
'�(ก���	  1��
�1�*���=	,�����	4(4(*,�����	�'��/1�ก+��)9� 

( X  =4.60  6(' ..DS  = 0.50)  �1����*���:��
�1�*���=	;�
	�ก����	6,�('�
�-��'ก�/ �/
��

ก����'�1*	4(  4()�1Q+I*R+�
ก������	1��
�1�*���=	�'��/1�ก ( X  =4. 46)    6('ก��	.�5�� �

��'�� 	-1��
�1�*���=	�'��/1�ก+��)9� ( X  =4. 60)    


